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Aufgaben-Quickname: 4868

Aufgabe 1
Berechne.

a) 619 + 60 = 679
d) 536 + 30 = 566
¢) 116 + 10 = 126
i) 216 + 70 = 286

Aufgabe 2

Berechne.

a) 822 + 50 = 872
d) 821 + 50 = 871
g) 231 + 60 = 291
i) 228 + 50 = 278

Aufgabe 3

Berechne.
a) b0 +4 = 54
e) 20 + 8 = 28
h) 30 + 2 = 32
Aufgabe 4
Berechne.

a) 6740 + 1 = 6741
d) 4590 + 7 = 4597
g) 5200 + 8 = 5208
i) 3570 + 4 = 3574

Viel Erfolg!
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b) 726 + 40 = 766
¢) 540 + 40 = 530
h) 831 + 50 = 881

b) 231 + 40 = 271
¢) 915 + 60 = 975
h) 926 + 30 = 956
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¢) 776 + 10 = 786
) 846 + 20 = 866
) 419 + 70 = 489

¢) 527 4+ 10 = 537
£) 237 + 50 = 287
i) 731 + 50 = 781

B)30+5=35 ) 90+6=96  d)60+7=067
N20+3=23 ¢ 1l0+4=14
)20+4=24  j)50+7 =57

b) 3800 4 7 = 3807

e) 3090 + 3 = 3093

h) 2460 + 1 = 2461
Seite 1

¢) 2370 4+ 6 = 2376
r) 8210 + 6 = 8216
i) 8680 + 6 = 8686
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